AMp2=(Mp+1)2 -
(Mp-1)2

(xz - 1)/(2p : 1) [(xz-1)/y] - 1 .

o eN-awee zp/s

O T A N R R R T

7
8 | 255 | 65025 32640 128 16384 —— 16129 16256 -5-

130305

1023 1046529 523776 L 512 262144 —— 261121 261632 1024 1025 128 | 10 |

2094081 1023

4095 16769025 8386560 2048 4194304 [ 8382465 | 2047 | 4190209 4192256 4096 4097

5 | 13 | | 67092481 33550336 4096 16777216 33542145 4095 16769025 16773120 8192 8193 1024
[ 14 [ 16383 | 268402689 | 134209536 8192 67108864 134193153 8191 67092481 | 67100672 | 16384 [ 16385 | 2048

32767 1073676289 268419072 32769
(16 | 65535 | 4294836225 | 2147450880 | 32768 | 1073741824 | 2147385345 [ 32767 | 1073676289 | 107370956 [ 65536 [ 65537 [ 8192 | 16 |
o 17 | | 17179607041 | 8589869056 | 65536 | 4294967296 | 8589737985 | 65535 | 4294836225 | 4294901760 | 13172 | 131073 | 16384 | 17 |
[ 18 | 262143 | 68718952449 | 34359607296 | 131072 | 17179869184 | 34359345153 [ 131971 | 17179607041 | 17179738112 [ 262144 [ 262145 [ 32768 | 18 |
| 19 | | 274876858369 | 137438691328 | 262144 | 68719476736 | 137438167041 | 262143 | 68718952449 | 68719214592 | 524288 | 524289 | 65536 | 19 |
20 | 1048575 | 1099509530625 | 549755289600 | 524288 | 274877906944 [ [ o0 | 0 | 274877382656 | 1048576 [ 1048577 [ 131072 | 20 |
| 4194303 [ 17592177655809 | 8796090925056 [ 2097152 [ 4398046511104 [N | 4398044413952 | 4194304 | 419435 | 524288 |
4194303 17592177655809 | 8796090925056 2097152 4398046511104 finish table: next entry would be 4398044413952 4194304 4194305 524288

16777215 281474943156225 | 140737479966720 8388608 70368744177664 p=20, x=524288... 70368735789056 16777216 16777217 2097152

- 67108863 47L8035994931527 225179978013081 33554432 11258999068426 11258932732881 67108864 67108865 8388608
] | |
0
28 268435455 72057593501057 | 360287968847462 134217728 18014398509481 18014398375264 268435456 268435457 33554432 28
000 40 984 256
11529215024593 | 576460751766552

23058430059924 1073741823

68481

EVEN EVEN EVEN

KEY: p=PRIME Mp=Mersenne Prime= 2r -1 Mp?2 = Mersenne Prime Square PN=Perfect Number = (2r-1)(2r -1) OC=0DD Complement (to PN) PNS=Perfect Number Square 0OCS=0DD Complement Square CR=Complement Rectangle

End # Analysis: z2+xz=7 z2+xy=1 x+xz=2 y+xz=1 Xx+xy=6 y24+yz=0 xz-xy=6 2z2:x=6 x2-z2=x y2-z2=yz Ax&y=1 Ay2&xz=1 holds true for ALL except for first, p=2. See Table 137.
Table 124:Mersenne Prime Squares: 13 parameters of the First 51 Mersenne Primes. copyrighte2021-23, Reginald Brooks, Brooks Design. AUl rights reserved.




